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GASES CUÁNTICOS 
DE 

FERMIONES 

REPASO



N partículas no interactuantes con spin semientero

Ĥ =
N�

l=1

Ĥl

identifica partícula

Cada partícula está descripta por el mismo 
Hamiltoniano de ‘‘partícula independiente’’ (PI):

Las N partículas comparten los números cuánticos      
      que identifican a los estados de “partícula 
independiente”. 
α

Ĥ
(PI)|αj� = �αj |αj�

identifica estado de PI



Estados de N partículas en la representación nro de 
ocupación 

| . . . , nαj−1 , nαj , nαj+1 , . . .�

ocupación de estado
j de PI

Antisimetría de la función de onda de N 
partículas           Ppio de exclusión de Pauli

nαj = 0, 1

a†αj
| . . . , 0, . . .� = | . . . , 1, . . .�

aαj | . . . , 1, . . .� = | . . . , 0, . . .�



En la representación de 2da cuantización

Ĥ =
�

j

�αja
†
αj
aαj ≡

�

α

�αa
†
αaα

El conjunto gran canónico es el más cómodo para estudiar 
estos sistemas.

N̂ =
�

α

a†αaα

{aα, a†α�} = δα,α� , {aα, aα�} = {a†α, a
†
α�} = 0

Antisimetría de la función de onda de las N partículas 
garantizada por:

Z = Tr[eβ(Ĥ−µN̂ ]

Satisface
U = Tr[ρ̂Ĥ], N = Tr[ρ̂N̂ ]max{S = −kBTr[ρ̂ ln ρ̂]}

ρ̂ =
e−β(Ĥ−µN̂)

Z



Calculando  Tr[..] respecto de los estados de N partículas:

Z =
�

α

(1 + ze−β�α), z = eβµ

Ω(T, µ, V ) = −kBT
�

α

ln(1 + ze−β�α)

nF (�) =
1

eβ(�−µ) + 1
D(�) =

�

α

δ(�− �α)

Función de Fermi-Dirac Densidad de estados

N = z
∂ lnZ

∂z
=

�

α

nF (�α) =

� ∞

−∞
d�D(�)nF (�)

U = −∂ lnZ

∂β
=

�

α

�αnF (�α) =

� ∞

−∞
d�D(�) � nF (�α)



GAS DE ELECTRONES 
EN 

CAMPO MAGNÉTICO 
EXTERNO



PARAMAGNETISMO DE PAULI
Hamiltoniano de PI, volúmen V=LxLxL

Ĥ =
p̂2

2m
− µBσ̂ ·B =

p̂2

2m
− µBσ̂zB

B

Ĥ|p, σ� = �p,σ|p, σ�, σ =↑, ↓

|p, σ�, → ψp,σ(r) =
1√
V
e−

i
�p·rχσ

�p,σ =
p2

2m
− sσµBB, s↑,↓ = ±, p =

2π�
L

(nx, ny, nz)



2.1. THE NON-INTERACTING ELECTRON GAS 37

Figure 2.4: Two aspects of |FS� in k-space. To the left the dispersion relation εk is plotted

along the line k = (kx, 0, 0), and εF and kF are indicated. To the right the occupation of

the states is shown in the plane k = (kx, ky, 0). The Fermi sphere is shown as a circle with

radius kF. Filled and empty circles represent occupied and unoccupied states, respectively.

Thus in |FS� all states with εk < εF or |k| < kF are occupied and the rest are unoccupied.

A sketch of |FS� in energy- and k-space is shown in Fig. 2.4.

As a first exercise we calculate the relation between the macroscopic quantity n = N/V,

the density, and the microscopic quantity kF, the Fermi wavenumber.

N = �FS|N̂ |FS� = �FS|
�

kσ

nkσ|FS� =

�

σ

V
(2π)3

�
dk �FS|nkσ|FS�. (2.24)

The matrix element is easily evaluated, since nkσ|FS� = |FS� for |k| < kF and 0 otherwise.

This is written in terms of the theta function
3

N =

�

σ

V
(2π)3

�
dk θ(kF−|k|)�FS|FS� =

2V
(2π)3

� kF

0
dk k2

� 1

−1
d(cos θ)

� 2π

0
dφ 1 =

V
3π2

k3
F ,

(2.25)

and we arrive at the extremely important formula:

k3
F = 3π2n. (2.26)

This formula allows us to obtain the values of the microscopic parameters kF, εF, and vF.

Hall measurements yield the electron density of copper
4
, n = 8.47×10

28
m
−3

, and from

Eqs. (2.23) and (2.26) it thus follows that for copper

kF = 13.6 nm
−1 εF = 7.03 eV = 81600 K

λF = 0.46 nm vF = 1.57×10
6

m/s = 0.005 c.
(2.27)

3θ(x) = 1 for x > 0 and θ(x) = 0 for x < 0
4The density can also be estimated as follows. The inter-atomic distances are typically � 2 Å. In

monovalent Cu one electron thus occupies a volume � (2×10−10 m)3, and n ≈ 1029 m−3 follows.

k = p/�

B=0

�p =
p2

2m

Las dos especies de spin 
tienen = relación dispersión

B   0
σ =↑σ =↓

�=

�p↓ =
p2

2m
+ µBB

�p↑ =
p2

2m
− µBB

+µBB

−µBB



nro total de partículasN = N↑ +N↓

M = µB(N↑ −N↓) momento magnético total

Nσ =
�

p

nF (�p,σ) =
�

p

nF (�p + sσµBB) =
�

p

1

eβ(�p+sσµBB−µ) + 1

=
�

p

1

eβ(�p−µσ) + 1
, µσ = µ− sσµBB

Nσ =

�
d�D(�)

1

eβ(�−µσ) + 1
,

D(�) =
�

p

δ(�− �p) ∼
V

h3

�
d3pδ(�− �p) =

V

h3
2π(2m)2/3

√
�

En términos de la densidad de estados:



Reemplazando:

Nσ =
V

λ3
f3/2(zσ), zσ = eβµσ = eβ(µ−sσµBB)

fν(z) =
1

Γ(ν)

� ∞

0

xν−1

z−1ex + 1
, λ =

�
2π�2
mkBT

*Altas temperaturas zσ � 1 fν(zσ) ∼ zσ

n =
N

V
= n↑ + n↓ ∼ eβµ

λ3
(eβµBB + e−βµBB) ∼ eβµ

λ3
2

m =
M

V
= n↑ − n↓ ∼ eβµ

λ3
(eβµBB − e−βµBB) ∼ eβµ

λ3
2βµ2

BB

χ(T ) =
∂M

∂B
|B=0 =

2eβµ

λ3
βµ2

B ∼ N
µ2
B

kBT
Ley de Curie



*Bajas temperaturas:                     Sommerfeldzσ � 1

Nσ ∼
� µσ

0
d�D(�) +

π2

6
(kBT )

2D�(µσ)

nσ ∼ 4π

3
(
2m

h2
)3/2(kBT ln zσ)

3/2{1 + π2

8
(ln z−2

σ }

µσ = µ− sσµBB = kBT ln zσ ∼ �F,σ[1−
π2

12
(
kBT

�Fσ
)2]

�Fσ =
h2

2m
(
3

4π
)2/3n2/3

σ
Energía de Fermi de un sistema 
con densidad de fermiones nσ

Resultado µBB � �F

m(B, T ) ∼ 3nµBB

2�F
[1− π2

12
(
kBT

�F
)2]

χ(T )
∂M

∂B
|B=0 =∼ 3NµB

2�F
[1− π2

12
(
kBT

�F
)2]

(Energía de Fermi a B=0) 



FERMIONES RELATIVISTAS
Tratamiento “sui generis”

�p = mc2[

�
1 + (

p

mc
)2 − 1]

lnZ = gs
4πV

h3

� ∞

0
dpp2 ln(1 + ze−β�)

= gs
4πV β

3h3

� ∞

0
dpp3

d�

dp

1

z−1eβ� + 1

por partes



T=0

Momento de Fermi = gas no relativista

P = kBT lnZ = gs
4πV

3h3

� pF

0
dpp3

d�

dp
,

N = gs
4πV

3h3

� pF

0
dpp2 = gs

4πV p3F
3h3

,

pF = (
3

4π

Nh3

V gs
)1/3

U = gs
4πV

3h3

� pF

0
dpp2�p



Límites para T=0

P =
gsπm4c5

6h3
A(yf ), U =

gsπm4c5

6h3
B(yf )

pf = mc sinhxf , yf =
pf
mc

* No relativista:

A(y) ∼ 8

5
y5, B(y) ∼ 12

5
y5

yf � 1

*Ultrarelativista yf � 1

A(y) ∼ 2y4, B(y) ∼ 6y4



Resultados

* No relativista: P =
2

3

U

V

U =
2πgsV

5h3m
p5F

* Ultrarelativista:

P =
1

3

U

V

U =
πgsV

h3m
p4F



Enanas blancas

Modelo: esfera de He ionizado

M ∼ 1030kg ρ ∼ 1010kgm−3 T ∼ 107K

Densidad de electrones

n = 3× 1036
electrones

m3

pf ∼ 0.9
MeV

c

�F ∼ 0.5MeV, kBT ∼ 1keV � �F

Relativista

T aprox 0   :)


